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fored |
Candidate must enter his/her Question Booklet serial No. (10 Digits) in
the OMR Answer Sheet.

2. RIeefl JATHIE 370+ Tl H & IR S |
Candidates are required to give answer in their own words as far as
practicable.

5. i @ik SRR W RY g sl quie Fiffe oxd §
Figures in the right hand margin indicate full marks.
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AT 2
15 minutes of extra time has been allotted for the candidate to read the

questions and follow the instructions carefully.
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This question paper is divided into two sections : Section-A and
Section-B.

Gus—3 H 70 IS U B, FoH A =gl 35 UTAl &l IR <A1 Afard
21 35 Ul W SIfUP IR &7 W YA 35 SR BT & AIHA BN | U &
forg 1 ofp MR & | g97aT SR 9 & ot Iuael e’ T OMR—ITR

T H e T 98 fabey BT drel /et 9 U9 W W dY | fedr )

JhR & RSN ,/TWRdA Y /&fs /ARgA 3Mfc OMR STR % H TN
FRAT AT B, AT GIe URomH M 8T |

In Section-A, there are 70 objective type questions, out of which any
35 questions are to be answered. If more than 35 Questions are
answered, then only first 35 will be evaluated. Each carrying 1 mark.
Darken the circle with black/blue ball pen against the correct option on
OMR Answer Sheet provided to you. Do not wuse
Whitener/Liquid/Blade/Nail etc. on OMR Answer Sheet, otherwise the
result will be invalid.

Yue—q H 20 TSI U 2| UAP d foy 2 3w FeiRa g o 9
fF=l 10 WAl &1 IR <1 AER 2| $9 SffaRad 39 WIS H 6 ard
IR U & T F | U B oY 5 i MEiRd 8, 9 | fgl 3 Al

BT ITN <7 Jffard 2 |

In Section-B, there are 20 Short answer type questions, each carrying

2 marks, out of which any 10 questions are to be answered. Apart from



this, there are 6 Long Answer Type Questions, each carrying 5 marks,

out of which any three Questions are to be Answered.

8. Pl TRE & Selagi-id IUSHRYT HI YANT gUidT afsid 2 |

Use of any electronic appliances is strictly prohibited.

Tve—31/ SECTION-A

(axgfiss y¥4) /Objective Type Questions.

Ue WA 1 9 70 6 B UAP U & 91T IR fadweu Ry I €, R 9 e 99 2
31O ERT g Y Hal fddheq & OMR—3¥T R fafed &y | fh=<i 35 Uei &7 SR < |
35x1=35

Question No.- 1 to 70 have four options, out of which only one is correct you

have to mark your selected option, on the OMR-Sheet. Answer any 35 questions.

35x1=35
1. IR ST GG Bl @ w9 H ST ST 2 |
(A) <frer (B) b
(C) cfre (D) wrer

Queue data structure is known as ...................

(A) LIFO (B) FILO
(C) LILO (D) FIFO
2. WaST (Ve =
(A) 37Ye B (B) 3TSeYe B

(C) uRa<g (D) ST UBR



Cout ()isal/an .........

(A) Input Function (B) Output Function
(C) Variable (D) data type
ETF ......... g

(A) IR (B) 3ifarex

(C) ReRr (D) ST UHR
Boolisa/an .........

(A) Function (B) Operator
(C) Constant (D) data type
Sqrt () B oo H U T |

(A) cstring.h (B) iostreams.h
(C) wfora.g= (D) stdio.h

Sqart () function is available in .........

(A) cstring.h (B) iostreams.h

(C) math.h (D) stdio.h

NOR T® ......... g

(A) FR (B) faeivar yerR

(C) qrerr (D) Trfdh s 3ffRex
NORis a/an .........

(A) Query (B) attribute type
(C) constraint (D) Logical operator



WP H DS 9K ST W T4 Wb 9T T8l Bl 8 Al S o S ST 2 |

W9 WEH @lell T8 BT & AT 3SeH & Hared AR fAddT SRR
HEAT B |

(A) 99, g1 (B) gar. drd

(C) sTei. BeTd (D) gerd. Srel

Inserting an item into the stack when stack is not full is called .........

operation and deletion of item form the stack. when stack is not empty is

called ............. operation.

(A) pop. push (B) push. pop

(C) insert. delete (D) delete. insert
ST GET HATa & [ AHel H SIdHdH AR o Tal 27
(A) Fe9 wRT9 Rerfa (B) 3iTd AR

(C) dsIss dqa (D) &g &l

Which case of data structure operation takes maximum time?

(A) Worst Case (B) Average Case

(C) Best Case (D) None

HIITHD FHRAT oo BT SYANT PRBb BAI~ad bl Sl 8
(A) it oh (B) et o

(C) AR ol (D) g el

Functional dependency implemented using .......

(A) Primary key (B) Foreign key



10.

11.

12.

(C) Non key (D) None

SITTHATT 99T B A 8 7
(A) % (B) THaIUe
(C) Siran (D) -+

Which one is DBMS language ?

(A)C (B) SQL
(C) Java (D) C++

Teh il ST & |

(A) faraa (B) sgwudr

(C) W AARTE (D) encapsulation

A class represents

(A) Inheritance (B) polymorphism

(C) Member function (D) encapsulation
gferae wae ™ A+BC .o HT BT 97 T |

(A) TaH-ARIT (B) (T+a) (w+=M)

(C) Tel-+TdRi (D) (g-+¥) <t

The boolena function A+BC is a reduced form of ...............
(A) AB+BC (B) (A+B) (A+C)

(C) AB+ABC (D) (A+C) B

ICH T YOIl BT R & ?

(A) 10 (B) 8



13.

14.

15.

(C)2 (D) 16
Base of octal number system is ?

(A) 10 (B) 8

(C) 2 (D) 16

IR FaRi BT IS o= & v STNT fhy SH aTel 3 T 2|

(A) 0,1 (B) 1.2
(C)o,1.2 (D) o,2

What are the digits used to represent binary numbers.

(A) 0,1 (B) 1,2
(C)0,1,2 (D) 0,2
DI AT SHETATE ¥ Gafed T8 § ?

(A) 5T (B) fara
(C) mer (D) 4fp

Which one is not related to DBMS ?

(A) ENTITY (B) ATTRIBUTE

(C) CLASS (D) ROW

=1 % 9 f59 SQL FHe &1 YA <9t ge™ & forg fawar oiar 2 2
(A) S1et (B) ¢

(C) g=a it (D) sfu 2t

Which of the following SQL command used to delete table ?

(A) INSERT (B) CREATE



16.

17.

18.

(C) CREATE VIEW (D) DROP TABLE
fa=forRad § @ @19 e fafkig or@m GigedaR g ?

(A) faerst (B) <eh

(C) UsHaR (D) Ue

Which of the following is a financial accounting software ?

(A) Windows (B) Tally

(C) Pagemaker (D) Paint

HTTP &1 Adad B |

(A) TSR Toll TAHR UICTdhidl (B) BISWR OIS SINIMHRM WIeidia

(C) BEWR TRT TIABR UeTdhid (D) ®ig &l

HTTP stands for ?

(A) Hyper tele transfer protocol

(B) Hyper transport transmission protocol
(C) Hypertext transfer protocol

(D) None

A9 BICT WX -cad P A1 8 ?

(A) Tl TRAT Heam (B) a4

(C) s (D) ar
Which one is the smallest computer network?

(A) Personal Area Network (B) LAN

(C) Man (D) WAN



19.

20.

21.

22.

#TAXCALC () ......... g

(A) < ™ (B) SUANTEHAT AHRIE BT A

(C) TR w1 (D) SYANTHAT SeT AH

#TAXCALC ()is .........

(A) block name (B) User Function name
(C) header file (D) User data name

A% BHI ... & oI g&HATe BT ST AT o |

(A) & ot (B) v af

(C) a%g iR af (D) BTy et

Friend function can be use for ..........

(A) Two Classes (B) One Classes.
(C) Object and Class (D) None

A Class SHelc & U H ... @ foIg &M a=all B |
(A) P (B) a%g

(C) fafera (D) SWRIH |4

A class work as template for ...........

(A) Program (B) Object

(C) Methods (D) All above

OOP @I ®I9 4T feiyar b€ Y YA Bl SR Bl 57
(A) TTd=gereT (B) d=mgshH

(C) aryd (D) sgwud



23.

24.

25.

26.

Which feature of OOP indicated code reusability?

(A) Encapsulation (B) Inheritance

(C) Abstraction (D) Polymorphism

g5 faRar forae gRT b 9% aN) o] @ 12l 3idfhar HR Hapell B ?
(A) ST SiRIHR (B) ser drsfen

(C) wEr ToTeeT (D) e g

The feature by which one objects can interact with another object is ?
(A) Data transfer (B) Data binding

(C) Message passing (D) Message reading

=1 4 9 I 91 fAcdrgor eifivey 2 ?

(A) ++ (B) <<

(C) # (D) %%
Which of the following is the bitwise operator ?
(A) ++ (B) <<

(C) ## (D) %%

Logical AND & forv o effRex &1 W fhar e & 2
(A) 3ffaver - & (B) 3ifuRex - 8&
(C) 3fftRex ~(a) (D) 3ifmReR - #
Which operator is used for logical AND

(A) Operator - & (B) Operator - &&
(C) Operator - (a) (D) Operator - #

T C++ g4 f5a e & 91 w9 8l 2 |

10



27.

28.

29.

(A) 3t farm () (B) ot favm (1)

(C) @1 () (D) ®rer ()

A C++ line ends with which symbol

(A) Semicolon (:) (B) Full Stop (.)

(C) Coma (,) (D) Colon (;)

=1 9 | B9 dfgexr & foly A9 Rice © ?

(A) S, (B) R 7, *IP=0;
(C) ge* |_ P=0; (D) €€ isTeTETN=8i:
Which of the following is valid syntax for pointer ?

(A) int*ip:: (B) string S, *Ip=0;

(C) int*i_p=0; (D) int i;double*dp=4&i;

(A) Pie (B) MR
(C) aerR (D) SWRIGd H A PIg el

# MIN () is an example of ........

(A) const (B) preprocessor

(C) Literals (D) none of above
fofers = & <eal Bl Gl fbar e € |

(A) U%h G H (B) % wxofl #

(C) i # @i W (D) |f+fea wfa e H

The elements of Linked list are stored

11



30.

31.

32.

33.

(A) in a structure (B) in an array

(C) Any where in the disk (D) in contiguous memory location

UPh HISH IBY YRITH BT STANRT HRD Fardd T A Hraff~ad &A1 ST ThaT 2 |

(A) = (B) R
(C) ¥& (D) SR # ¥ FIE

A parentheses checker program can be best implemented using

(A) List (B) Queue

(C) Stack (D) Any of above

K3 @ FUT H & TS IR BT I AT BIAT o HEAT T |
(A) =TT (B) g

(C) @t (D) @7

Finding the location of a given item in a collection of items is called ......

(A) Discovering (B) Finding
(C) Searching (D) Mining
IRT BTTE Bl @ Y H N ST S 2
(A) 7 T (B) & wire
(C) Ber wFe (D) wrT w1

(A) Merge sort (B) Tree sort

(C) Shell sort (D) Portion sort

12



34.

35.

36.

(A) ERiTTa (B) SrEuat

(C) SrewTe (D) Sriget
ROLLBACKin SQLis a ............ statement.
(A) TCL (B) DDL
(C) DML (D) DCL

ST ararereT § fA=ferRad &l Bredr I ged A © |
(A) ST (B) Scre¥
(ISERINESS (D) 31T Brgel

The Database environment includes all the following components

except.
(A) DBA (B) Database
(C) User (D) Separate files

SQL # for@r a1 URIH WeHe HEandm & |

(A) T (B) wfsharm

(C) = (D) Rats

A Program statement written in SQL is called.
(A) Query (B) Procedure
(C) Function (D) Record
C++ ¥ yygad qull, Uil & HUE BT Had & ?

(A) TUIHTeAT (B) T—<rs
(C) IR AT (D) &g &l

13



37.

38.

39.

Collection of character, symbols used in C++ is called

(A) Alphabet (B) A-Z

(C) Character set (D) None

C++ ¥ fyeiaRM FifelT weHe ... BT STANT BRD Bralf~ad (a1 S Fha
=

(A) Tf B)afy ... S

(C) A SffoveR (D) SwRIH &

Selection branching statements in C++ can be implement using........
(A) if (B)if ......... then .......... else

(C) Conditional operator (D) All above

C++ ¥ Harel A RiTTeT HRTFeR Dl Ued & oy {6 Bar o1 yanT fbar S
87

(A) T X (¥ ) (B) Treams T (¥ Ta)

(C) u¢ (+M) (D) e= (@)

Which function is used to read a single character from the console in C++.
(A) get (ch) (B) get line (ch)

(C) read (ch) (D) getch (a)

C++ % FdId R RHTd dvaex foem & oy fhd waee &1 T fear S = |
(A) put (&1 Ta) (B) cout. put line (& 73)

(C) ferem (¥ v) (D) putch (1)

Which function is used to write a single character to console in C++ ?

14



40.

41.

42.

(A) put (ch)
(C) writer (ch)

THEG BT Adeld 28—

(A) ®BIg CIFHR YIcThicl

(C) ®iF THR UIeidhid
FTP stands for
(A) File transfer protocol

(C) Form transfer protocol

(B) cout. put line (ch)

(D) putch (a)

(B) Wizl SAMTA WIcidhld

(D) B4 gIAMARE Ueidler

(B) File transmission protocol

(D) Form transmission protocol

PITH TN Bl 39 UBR Faid fHAT ST B

(A) <aa

(C) T

Column header is referas ........

(A) Table

(C) Attributes

(A) A+AB+=A

(C) AB+AA=A

(B) deg

(D) %

(B) Relation

(D) Row

(B) A+AB=B

(D) A+B=B+A

The expression for absorption law is given by ...............

(A) A+AB+=A (B) A+AB=B
(C) AB+AA=A (D) A+B=B+A
(OF 5 2K 11 A 4 IRy gg?

15



44.

45.

(A) 1972 H JUHY &I TSI U8 T &I dl eldRedsl
(B) 1973 H JUHT A AIghI Rive=d

(C) 1972 # dffe fazafdenera

(D) 1979 H JUAY BT TEI U8 I BT 9 caReISl
C++ Language developed at ................ ?

(A) AT & T's Bell Laboratories

(B) Sun Microsystems in 1973

(C) Cambridge University in 1972

(D) AT & T's Bell Laboratories of USA in 1979

.................... UH R & 9a9 BIC! ARhTd SHTS o |

(A) aRac=a (B) fr=or

(C) aR= (D) erep
............... is the smallest individual unit in a program.
(A) Variable (B) Control

(C) Character (D) Token
fr=forRad § & @9 c++ H Wl variable g7

(A) Tvar_name (B) TVARNAME
(C) VAR 1234 (D) svar_name
Which of the following is a valid varibale name in c++?
(A) Tvar_name (B) TVARNAME

(C) VAR 1234 (D) svar_name

16



47.

48.

49.

(A) a¥g Sq9 (B) ufsharetd
(C) fde =R @&t wrwr (D) wrafersd
C++is ........... type of programming language ?
(A) Object oriented (B) Procedural
(C) Bit level language (D) Functional

frforRaa & | fod g9 /g2 ¢ sifuRer &l ST &7

(A) >> (B) <<

(C)> (D) <

Which of the following is called insertion/put to operator?

(A) >> (B) <<

(C)> (D) <

C++ # gforaet IRTTS &7 MBR FT 2 |

(A)1 fae (B) 1 dTsc
(C) 4 ar5ew (D) 2 a5
What is the size of a boolean variable in C++ ?
(A) 1 bit (B) 1 byte
(C) 4 bytes (D) 2 bytes
fFr=feiRad 9 &I W fUcw () & aReR 8 ?
(A) &t g4 (B) &Y 33

(C) ffe (D) g19e

17



50.

51.

52.

Which of the following is C++ equivalent for printf () ?
(A)Cin (B) C out

(C) Print (D) Input

fr=forRad § & 39 te g FRIFa U g ?

(A) for (B) while

(C) do-while (D) both while and for
which of the following is an entry- controlled loop ?

(A) for (B) while

(C) do-while (D) both while and for
RrferRad # & B Py Reifeqa sifRex & ?

(A) - (B)*

(C):: (D) \

Which of the following is the scope resolution operator ?
(A) - (B)*

(C):: (D) \

C++ #H fSwice wU 9 Ivf SeT U&R &1 frg & g ?

(A) Signed (B) Unsigned

(C) Implementation dependent (D) Unsigned Implementation
In C++, what is the sign of character data type by default ?
(A) Signed (B) Unsigned

(C) Implementation dependent (D) Unsigned Implementation

18



53.

54.

55.

IS IMUdpT Ps fdpcdl & MR WR oy o1 8, O 99 § 9 o9 a1 999

JUYH 87
(A) IR (B) aFR—3=
(C) IMR—3MR—3MR (D) SWRKh T

If you have to make decision based on multiple choices, which of the
following is best suited ?

(A) if (B) if-else

(C) if-else-if (D) All of the above
C++ 91T 4 o[ &I YA b gRI fbam S 27?

(A) While loop (B) For loop

(C) Do while loop (D) All of the above
Loops in C++ Language are implemented using ?

(A) While loop (B) For loop

(C) Do while loop (D) All of the above
frraforRad & 9 o T dgdex & YbR T8) & 7

(A) BT Fegaex (B) firz fmfar

(C) fewiee degaey (D) IRTHICR Jah hEgaey
Which of the following is not a type of constructor ?
(A) Copy constructor (B) Friend constructor

(C) Default constructor (D) Parameterized constructor

19



56.

57.

58.

59.

FefoiRad & 9 6 S@UROT &1 3l 7 <9 W I8 FEiRT wx1 € & b
fafd &1 AN w7 7

(A) ST fosarn (B) wrfaefie ergfu

(C) wrfereiel deg (D) wfershrer enfe

Which of the following concepts means for determining at runtime what
method to invoke ?

(A) Data hiding (B) Dynamic typing

(C) Dynamic binding (D) Dynamic loading

¥Tersd H BIF AT STl SfrdT 27

(A) &I ERT Bldd I (B) He¥ gRT didl X

(C) fewice d® (D) Ufgex §RT didl B

Which one is inserted into runtime ?

(A) Call by value (B) Call by reference
(C) Default arguments (D) Call by pointer
fFreforad & | @19 &3 T8 8 Aobar 87

(A) BT (B) et

(C) =g (D) SiftReR weer

Which of the following cannot be friend?

(A) Function (B) Class

(C) Object (D) Operator function
frforRaa & 9 @9 |1 Wi SART & AT (THRI) & wU H 87

20



60.

61.

62.

(A) (T+dN) (F+2) (B) @ & ¥ <)

(C)uw &t AT & (D) T §—=f1 &

Which of the following expressions is in the sum-of-products (SOP) from?
(A) (A+B)(C+D) (B) (A) B (CD)

(C) AB (CD) (D) AB+CD

S HE & T &7 Foid ABC H R &R TR 84 ... UTed Bl & |

(A) A+B+C (B) A+B+C

(C) A+B+CC (D) A(B+C)

Applying De Morgan's theorem to the expression ABC we get .........

(A) A+B+C (B) A+B+C
(C) A+B+CC (D) A(B+C)

e oo B & Tead & w9 # aRaia far a2
(A) T qed (B) =1 =

(C) T (D) IR =

Boolean algebra is define as asetof ..............
(A) One value (B) Two value

(C) Three value (D) Four value

fFreforRae gferas srfieafth o1 o &R+ & folU fdhd Bl B Maededl sl |
ARCHIPRII? TF ¢ +UT (QHE-+HOTS)+TE (Tae+ors)

(A) 1 (B)2

(C)4 (D) 5

21



63.

64.

65.

How many gates would be required to implement the following Boolean

expression after simplification ?

XY+X(X+Z)+Y(X+Z)
(A)1 (B) 2
(C)4 (D)5

T RovFd T ¥, Udd cud &l Bies § faurord fear omar & o &er

ST R |
(A) Hag (B) s
(C) weq (D) SWRIkH 4!

In a relational schema, each tuple is divided into fields called.
(A) Relations (B) Domains
(C) Queries (D) All of the above

DFD &7 Adold 2 |

(A) ScT garg qxrddd (B) ScT WIgdl IR

(C) SeI JaTg 3R (D) SIRKH # A BIg 72N
DFD stands for...

(A) Data flow document (B) Data file diagram

(C) Data flow diagram (D) None of the above
..................... gl ST @ IR H I Rived & IR H IFaR AUEd HRaT 2 |

(A) THIQUA (B) s
(C) freem (D) 5 & BIE T

22



66.

67.

68.

............... table store information about database or about the system.

(A) SQL (B) Nested

(C) System (D) None of the above
................. Fallol U IR fheex 2 S URUIM WR AR T ¢ |
(A) Select (B) Group-by

(C) Haring (D) Order by

............... clause is an additional filter that is applied to the result.

(A) Select (B) Group-by
(C) Haring (D) Order by
HRC CqD ¢ |

(A) TRRR TCHI AR HREI & FIT

(B) €aR <ell §RT WRER IS

(C) el iR LRI BT AT BHAT

(D) SWRIH 4!

Computer Network is

(A) Collection of hardware components and computers
Interconnected by communication channels

(C) Sharing of resources and infromation

(D) All of the above

31 fearsd weas # g af

23



69.

70.

(A) T fearsd H Ud Ufhar N farsd # U Ufshar & A1 a1 & 3faH
TS R H A B |
(B) ST SUGRON W UF UhAT Tl € 2|

(C) faf=1 Sua=vlt # =re= arel Uftharel pID & HHM BN € |

(D) &S W1 Ieeld A2l fhar 137 |

Two devices are in network if

(A) a process in one device is able to exchange infromation with a process
in another device.

(B) a process is running on both devices.

(C) PIDs of the processes running of different devices are same.

(D) None of the mentioned.

MY Ydhe BT FATH TR AMHR HT &7

(A) 16 qI8cH (B) 10 q18cH

(C) 20 a1EcH (D) 32 d1$cd

What is the minimum header size of an IP packet ?

(A) 16 bytes (B) 10 bytes

(C) 20 bytes (D) 32 bytes

% ATRY Ube H B MY |

(A) Badl T BT YT (B) BacT ey ual
(C) &I 3R Tdad g (D) &g a1 Tad Ul

Each IP packet must contain

24



(A) Only source address (B) Only destination address
(C) Source and destination address
(D) Source or destination address

Yuvs—9 / Section-B

oY S 939 (Short Answer Type Questions)

U AT 1 W 20 b Y SR 8| Bl 10 Ul b SR < | U-¥D b oY 2 b
fFeriRa 2 | 10x2=20

Question no. 1 to 20 are Short answer type. Answer any 10 questions. Each

question carries 2 marks.

1. IR STl UBR aR9Ifg & |
Define Advance Data type.
2. Th SSaT BIsSel T § 7

What is an index file ?

3. SRINFE TR Blse] dl oSSV |

Explain Direct access file.

4. Ul ISR Sadied T 7 ?
What is pre order traversal ?

5. ST ¥ DT FHSU |

Explain Concrete class.

6. Ferell & e AEAT w7 ® ?

25



10.

11.

12.

13.

14.

15.

16.

What is collaboration between classes?

SHIS AESAl DI IR P |

Explain Entity intergrity.

T §O BT qUiE BT |

Describe search engine.

W Wl a1 8 7

What is spam mail ?

feafiiT r 2 ?

What is debugging ?

e FISHIOT H AEANT & 99 & IRt FHIY |
Explain rule of association in Boolean algebra.
TSY HIgel T 87

What is header file ?

C++ ¥ diifotepd RS BT 9SSV |

Explain logical operators in C++

o

M W STIIE g9 &1 &7

What are three level database views ?
T ol TR ®T 2 ?
What is a private variable?

dfoThel TR RIT 27
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What is Logical error ?
17. fdex T g ?
What is Linker?
18.  Md I R § ?
What is abstract class ?
19. ST ool & @R o |
Explain Data Anomalies.
20. S—3R SRUM FT T ?

What is E-R Diagram ?

e SaF 939 (Long Answer Type Questions)

o AT 21 W 26 TP 4" ST B | bl 3 Ul & SR < | IS b U 5 3
iR € 3x5=15

Question nos. 21 to 26 are Long answer type. Answer any 3 questions. Each

question carries 5 marks.

21. UP QUi A& B WHR &)1 & foiy C++ H v g ford | R uglRia o

5 = I © U favH G A1 I8 U 9H 9T 27

Write a program in C++ to accept an integer number then display whether

the number is an odd number or it is an even number ?
22. T B JIT BT TUET B B forg C++ § U i ford |

Write a program in C++ to calculate the volume of a square.

27



23.

24.

25.

26.

Th IMAT & &F%he AR R @7 o iR yalRid &+ & fog C++ H wa
g ford, dierg 8k orvarg Wbk &HRd 8U |

Write a program in C++ to calculate and display Area and Perimeter of a

rectangle by accepting length & breadth.

IZHUCT YR B & oy T o] S HRIHH o1 |

Write an object oriented program to demonstrate polymorphism.

AR TS Bl TN & ol Geb I I BRIHH ford |

Write an object oriented program to calculate simple interest.

&1 QU] & U Bl WiolH & oY Bae SHelc &l SUAN dxd b C++
T fered sy |

Write a C++ program using function template to find the product of two

integer numbers.
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